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4. Allison is wearing pajamas. Complete these sentences with and, but, or so.
No she ,gnd . She s Cueaxiag Ayest. 1. He's wearing jeans and sneakers, and he's wearing a T-shirt
5. Carolina and Liz are wearing T-shirts. e 2. Its very cold outside, bt I'm not wearing a coat, :
Mo oo casenct . Theyre SEat gy 2 AT e T
6. Steven and Pablo are wearing shorts. 4, It's raining, SO I need an umbrella,
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|s this coat yours? 23] 6. It's summer and it's very sunny, sa it's hot, il
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4. Sung-min is wearing jeans-
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1. Sung-min is wearing jeans.
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